
                      Contact  No. :   9555202436,  9716761136                               1

MATHSWITHABHINAY CLASSES

??????????????????????????????????????????????????
630, 3rd Floor Near Aggarwal Sweets Mukherjee Nagar



                      Contact  No. :   9555202436,  9716761136                               2

MATHSWITHABHINAY CLASSES

??????????????????????????????????????????????????
630, 3rd Floor Near Aggarwal Sweets Mukherjee Nagar

NUMBER SYSTEM
1. If p & q are relatively prime number in such a

way p + q = 10  & p < q . How many pair are
possible of p,q.
 ; fn p vkSj q vki sf{kr vHkkT;  l a[ ; k, a bl  i zdkj gS fd  p
+ q = 10  vkSj p < q.  p vkSj q ds fdrus ; qXe l aHko gksaxsA
(a) 2 (b) 3
(c) 1 (d) 0

2.  If x2 – 5y2 = 1232, how many pairs are possible
for   (x,  y)
; fn x2 – 5y2 = 1232, x vkSj y ds fdrus ; qXe l aHko gksaxsA
(a) 2 (b) 3
(c) 1 (d) 0

3. If  x7 – x3 = 1542, how many values are possible
for  x.
 ; fn x7 – x3 = 1542, x ds fdrus eku l aHko gksaxs\
(a) 2 (b) 3
(c) 1 (d) 0

4. If n is a three digit number and last two digits
of square of n are 54 (n2  = … 54), then how
many values of n are possible?
; fn n , d rhu vadksa dh l a[ ; k gS vkSj n ds oxZ ds
vafre nks vad 54 gSa (n2  = … 54), rc n ds fdrus
eku l aHko gksaxs\
(a) 2 (b) 20
(c) 1 (d) 0

5. If a six digit number is formed by repeating a
three digit number (e.g.  656656, 214214), then
that number will be divisible by :
; fn , d rhu vadksa dh l a[ ; k dks nksgjkdj , d N%
vadksa dh l a[ ; k cukbZ t krh gS (t Sl s  656656,
214214), ; g l a[ ; k ges' kk fdl l s foHkkft r gksxh\
(a) Only 7 (b) Only 11
(c) Only 13 (d) 1001

6. If a six digit number is formed by repeating a
two digit number three times (e.g. 141414),
then that number will be divisible by :
; fn , d nks vadksa dh l a[ ; k dks rhu ckj nksgjkdj
, d N% vadksa dh l a[ ; k cukbZ t krh gS (t Sl s  141414),
; g l a[ ; k ges' kk fdl l s foHkkft r gksxh\
(a) 1001 (b) 101
(c) 10001 (d) 10101

7. If a four digit number is formed by repeating a
two digit number two times (e.g. 2525), then
that number will be divisible by :
; fn , d nks vadksa dh l a[ ; k dks nksgjkdj , d pkj
vadksa dh l a[ ; k cukbZ t krh gS (t Sl s  2525), ; g
l a[ ; k ges' kk fdl l s foHkkft r gksxh\
(a) 1001 (b) 101
(c) 10001 (d) 10101

8. If a number 45678x9231 is divisible by 3, then
how many values are possible for  x.
; fn l a[ ; k 45678x9231, 3 l s i w.kZr% foHkkft r gS
rks  x ds fdrus eku l aHko gSa\
(a) 1 (b) 2

(c) 3 (d) 4
9. If a number 67235x489 is divisible by 9, then

find the value of x.
; fn l a[ ; k 67235x489 , 9 l s i w.kZr% foHkkft r gS rks
x dk eku gksxk\
(a) 1 (b) 3
(c) 5 (d) 7

10. If a number 6784329x145 is divisible by 11,
then find the value of x.
; fn l a[ ; k 6784329x145 , 11 l s i w.kZr% foHkkft r
gS rks  x dk eku gksxk\
(a) 3 (b) 4
(c) 5 (d) 7

11. What will come in place of unit digit in the
value of (7)35 × (3)71 × (11)55?
O; at d  (7)35 × (3)71 × (11)55 dk bdkbZ vad gksxk\
(a) 0 (b) 3
(c) 1 (d) 6

12. Find the unit digit of expression
fuEu O; at d dk bdkbZ vad gksxkA
(259)123 – (525)111 – (236)122 – (414)115 + (323)81

(a) 3 (b) 4
(c) 5 (d) 7

13. Find the unit digit of expression
fuEu O; at d dk bdkbZ vad gksxkA
(599)122 – (125)625 – (144)124 + (236)36 + (127)121

(a) 3 (b) 4
(c) 5 (d) 7

14. Find the unit digit of expression
fuEu O; at d dk bdkbZ vad gksxkA
(922)111 – (328)113 – (156)123 – (229)111 – (124)29

(a) 1 (b) 4
(c) 5 (d) 2

15. Find the unit digit of expression
fuEu O; at d dk bdkbZ vad gksxkA
(424)111 × (727)188 × (828)199

(a) 3 (b) 4
(c) 5 (d) 8

16. Find the unit digit of expression
fuEu O; at d dk bdkbZ vad gksxkA
(823)933! × (777)223! × (838)123! × (525)111!

(a) 0 (b) 1
(c) 2 (d) 3

17. Find the unit digit of expression
fuEu O; at d dk bdkbZ vad gksxkA
(232)123! × (353)124! × (424)124!

(a) 3 (b) 4
(c) 6 (d) 8

18. Find the unit digit in the expression :
fuEu O; at d dk bdkbZ vad gksxkA
1! + 2! + 3! + 4! + ............................ + 100!
(a) 3 (b) 4
(c) 6 (d) 8
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(a) 24 (b) 25
(c) 28 (d) 30

29. Find the no. of zeros in expression :
1 × 2 × 3 × 4 .......... × 500
O; at d  1 × 2 × 3 × 4 .......... × 500 esa ' kwU; ksa dh
l a[ ; k gksxhA
(a) 124 (b) 125
(c) 130 (d) 135

30. Find the no. of zeros in expression :
2 × 4 × 6 × 8 .......... × 250

O; at d  2 × 4 × 6 × 8 .......... × 250 esa ' kwU; ksa dh
l a[ ; k gksxhA
(a) 25 (b) 30
(c) 28 (d) 31

31. Find the no. of zeros in expression :
O; at d  1 × 3 × 5 × 7 .......... × 99 esa ' kwU; ksa dh
l a[ ; k gksxhA
1 × 3 × 5 × 7 .......... × 99
(a) 24 (b) 12
(c) 10 (d) 0

32. Find the no. of zeroes in the product of (5 × 10
× 25 × 40 × 50 × 55 × 65 × 125 × 80)
O; at d (5 × 10 × 25 × 40 × 50 × 55 × 65 × 125
× 80) esa ' kwU; ksa dh l a[ ; k gksxhA
(a) 13 (b) 9
(c) 4 (d) 5

33. Find the no. of zeros in expression :
(1 × 3 × 5 × ........ × 99) × 100
O; at d  (1 × 3 × 5 × ........ × 99) × 100 esa ' kwU; ksa dh
l a[ ; k gksxhA
(a) 24 (b) 12
(c) 10 (d) 2

34. Find the no. of zeros in expression :
10 × 20 × 30 × .......... × 1000
O; at d  10 × 20 × 30 × .......... × 1000 esa ' kwU; ksa dh
l a[ ; k gksxhA
(a) 124 (b) 130
(c) 249 (d) 150

35. Find the no. of zeros in expression :
12 × 22 × 33 × 44 ×.......... × 100100

O; at d  12 × 22 × 33 × 44 ×.......... × 100100 esa ' kwU; ksa
dh l a[ ; k gksxhA
(a) 1200 (b) 1300
(c) 250 (d) 1050

36. Find the no. of zeros in expression :
(3123 – 3122 – 3121)(2121 – 2120 – 2119)
O; at d  (3123 – 3122 – 3121)(2121 – 2120 – 2119) esa
' kwU; ksa dh l a[ ; k gksxhA
(a) 1 (b) 2
(c) 3 (d) 0

37. Find the no. of zeros in expression :
(8253 – 8252 – 8251)(3221 – 3220 – 3219)
O; at d  (8253 – 8252 – 8251)(3221 – 3220 – 3219) esa
' kwU; ksa dh l a[ ; k gksxhA

19. Find the unit digit in the expression :
fuEu O; at d dk bdkbZ vad gksxkA
(1!)1 + (2!)2 + (3!)3 + ............................ +
(100!)100

(a) 3 (b) 4
(c) 7 (d) 8

20. Find the unit digit in the expression :
fuEu O; at d dk bdkbZ vad gksxkA
(1!)1! + (2!)2! + (3!)3! + ......................... +
(100!)100!

(a) 7 (b) 4
(c) 6 (d) 8

21. Find the unit digit in the expression :
fuEu O; at d dk bdkbZ vad gksxkA
(1!)100 + (2!)99 + (3!)98 + ......................... +
(100!)1

(a) 3 (b) 4
(c) 6 (d) 9

22. Find the unit digit in the expression :
fuEu O; at d dk bdkbZ vad gksxkA
(1!)100! + (2!)99! + (3!)98! + ......................... +
(100!)1!

(a) 3 (b) 4
(c) 9 (d) 8

23. If 100! divisible by 3n then find the maximum
value of n.
; fn 100!, 3n l s i w.kZr% foHkkft r gS rks n dk v fèkdre
eku gksxk\
(a) 48 (b) 44
(c) 40 (d) 33

24. If 122! is divisible by 6n then find the maxi-
mum value of n.
; fn 122!, 6n l s i w.kZr% foHkkft r gS rks n dk v fèkdre
eku gksxk\
(a) 58 (b) 62
(c) 40 (d) 48

25. If 123! is divisible by 12n then find the maxi-
mum value of n.
; fn 123!, 12n l s i w.kZr% foHkkft r gS rks n dk
vfèkdre eku gksxk\
(a) 58 (b) 50
(c) 59 (d) 60

26. If 133! is divisible by 7n then find the maxi-
mum value of n.
; fn 133!, 7n l s i w.kZr% foHkkft r gS rks n dk v fèkdre
eku gksxk\
(a) 21 (b) 22
(c) 23 (d) 24

27. If 187! is divisible by 15n then find the maxi-
mum value of n.
; fn 187!, 15n l s i w.kZr% foHkkft r gS rks n dk
vfèkdre eku gksxk\
(a) 45 (b) 50
(c) 46 (d) 48

28. Find the no. of zeros in 100!
100! ds var esa ' kwU; ksa dh l a[ ; k gksxhA
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45. Find the remainder in expression–

   2 32581 2862 2873
23

 

O; at d     2 32581 2862 2873
23

  esa ' ks"ki Qy gksxkA

(a) 21 (b) 2
(c) 9 (d) 12

46. Find the remainder in expression–
1! 2! 3! ..........100!

5
  

O; at d  
1! 2! 3! ..........100!

5
  

esa ' ks"ki Qy gksxkA
(a) 1 (b) 2
(c) 3 (d) 4

47. Find the remainder in expression–
1! 2! 3! ..........100!

7
  

O; at d  
1! 2! 3! ..........100!

5
  

esa ' ks"ki Qy gksxkA

(a) 2 (b) 3
(c) 4 (d) 5

48. Find the remainder in expression–
1 2 3 1001! 2! 3! ..........100!

5
  

O; at d  
1 2 3 1001! 2! 3! ..........100!

5
   esa ' ks"ki Qy gksxkA

(a) 1 (b) 2
(c) 3 (d) 4

49. Find the remainder when (6767 + 67)  is divided
by 68
t c (6767 + 67)  dks 68 l s Hkkx fd; k t k; s rks
' ks"ki Qy gksxkA
(a) 1 (b) –1
(c) 66 (d) 3

50. Find the remainder in

 
2 2 32581 (2862) (2873)

23
 

O; at d   
2 2 32581 (2862) (2873)

23
 

esa ' ks"ki Qy

gksxkA
(a) 8 (b) 6
(c) 10 (d) 4

51. Find the remiander when (17)23 + (29)23 is di-
vided by 23.
t c (17)23 + (29)23 dks 23 l s Hkkx fd; k t k; s rks
' ks"ki Qy gksxkA
(a) 0 (b) 1
(c) 2 (d) 3

52. Find the remiander when (27)35 is divided by
26.

(a) 1 (b) 2
(c) 3 (d) 0

38. Find the remainder in expression–

9
12761372

O; at d  9
12761372

esa ' ks"ki Qy gksxkA

(a) 1 (b) 2
(c) 3 (d) 7

39. Find the remainder in expression–

15
333322221111 

O; at d  15
333322221111 

 esa ' ks"ki Qy gksxkA

(a) 10 (b) 11
(c) 2 (d) 6

40. Find the remainder in expression–

27
1004100310021001 

O; at d 27
1004100310021001 

esa ' ks"ki Qy gksxkA

(a) 10 (b) 11
(c) 2 (d) 12

41. Find the remainder in expression–

9
2378123451234 

O; at d  9
2378123451234 

esa ' ks"ki Qy gksxkA

(a) 3 (b) 6
(c) 4 (d) 5

42. Find the remainder in expression–
4851 1869 4871

24
 

O; at d  
4851 1869 4871

24
 

esa ' ks"ki Qy gksxkA

(a) 3 (b) 6
(c) 9 (d) 12

43. Find the remainder in expression–
1235 1237 1239

12
 

O; at d  
1235 1237 1239

12
 

esa ' ks"ki Qy gksxkA

(a) 3 (b) 6
(c) 9 (d) 12

44. Find the remainder in expression–
660 661 662

17
 

O; at d  
660 661 662

17
 

esa ' ks"ki Qy gksxkA

(a) 11 (b) 6
(c) 9 (d) 12
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t c (27)35 dks 26 l s Hkkx fd; k t k; s rks ' ks"ki Qy
gksxkA
(a) 0 (b) 1
(c) 25 (d) 24

53. Find the remiander when (25)25 is divided by
26.
t c (25)25 dks 26 l s Hkkx fd; k t k; s rks ' ks"ki Qy
gksxkA
(a) 0 (b) 1
(c) 25 (d) 24

54. Find the remiander when (25)30 is divided by 26.
t c (25)30 dks 26 l s Hkkx fd; k t k; s rks ' ks"ki Qy
gksxkA
(a) 0 (b) 1
(c) 25 (d) 24

55. Find the remiander when (3)162 is divided by
162.
t c(3)162 dks 162 l s Hkkx fd; k t k; s rks ' ks"ki Qy
gksxkA
(a) 1 (b) 81
(c) 150 (d) 100

56. Find the remiander when (5)250 is divided by
250.
t c (5)250 dks 250 l s Hkkx fd; k t k; s rks ' ks"ki Qy
gksxkA
(a) 1 (b) 125
(c) 150 (d) 100

57. Find the remiander when (9)111 is divided by
11.
t c (9)111 dks 11 l s Hkkx fd; k t k; s rks ' ks"ki Qy
gksxkA
(a) 2 (b) 4
(c) 7 (d) 9

58. Find the remiander when (2)51 is divided by 5.
t c (2)51 dks 5 l s Hkkx fd; k t k; s rks ' ks"ki Qy gksxkA
(a) 1 (b) 2
(c) 3 (d) 4

59. Find the remiander when (2)501 is divided by 9.
t c (2)501 dks 9 l s Hkkx fd; k t k; s rks ' ks"ki Qy gksxkA
(a) 8 (b) 7
(c) 4 (d) 5

60. Find the remiander when (3)2140 is divided by
17.
t c (3)2140 dks 17 l s Hkkx fd; k t k; s rks ' ks"ki Qy
gksxkA
(a) 13 (b) 4
(c) 10 (d) 7

61. Find the remiander when (2)111 is divided by 9.
t c (2)111 dks 9 l s Hkkx fd; k t k; s rks ' ks"ki Qy gksxkA
(a) 4 (b) 5
(c) 7 (d) 8

62. Find the remiander when (2)5555 is divided by
13.
t c (2)5555 dks 13 l s Hkkx fd; k t k; s rks ' ks"ki Qy
gksxkA

(a) 4 (b) 5
(c) 6 (d) 7

63. Find the remiander when (3)152 is divided by
15.
t c (3)152 dks 15 l s Hkkx fd; k t k; s rks ' ks"ki Qy
gksxkA
(a) 3 (b) 2
(c) 6 (d) 9

64. Find the remiander when (3)555 is divided by 7.
t c (3)555 dks 7 l s Hkkx fd; k t k; s rks ' ks"ki Qy gksxkA
(a) 2 (b) 4
(c) 5 (d) 6

65. Find the remiander when 
10987654

 is divided by 6.

t c 
10987654

 dks 6 l s Hkkx fd; k t k; s rks ' ks"ki Qy gksxkA

(a) 2 (b) 3
(c) 4 (d) 5

66. Find the remiander when (777777 …… 100
times) is divided by 13.
t c (777777 …… 100 times) dks 13 l s Hkkx
fd; k t k; s rks ' ks"ki Qy gksxkA
(a) 10 (b) 3
(c) 4 (d) 5

67. Find the remiander when (22222…… 201
times) is divided by 11.
t c  (22222…… 201 ckj ) dks 11 l s Hkkx fd; k
t k; s rks ' ks"ki Qy gksxkA
(a) 2 (b) 3
(c) 4 (d) 9

68. Find the remiander when (19191919 …… 8
times) is divided by 7.
t c  (19191919 …… 8 ckj ) dks 7 l s Hkkx fd; k
t k; s rks ' ks"ki Qy gksxkA
(a) 1 (b) 2
(c) 4 (d) 6

69. Find the remiander when 101 + 102 + 103

+……+10100  is divided by 6.
t c  101 + 102 + 103  +……+10100  dks 6 l s Hkkx
fd; k t k; s rks ' ks"ki Qy gksxkA
(a) 0 (b) 2
(c) 4 (d) 6

70. Find the remiander when 1010 + 10100 + 101000

+……+1010000000000  is divided by 7.
t c  1010 + 10100 + 101000  +……+1010000000000  dks
7 l s Hkkx fd; k t k; s rks ' ks"ki Qy gksxkA
(a) 0 (b) 2
(c) 4 (d) 6

71. Find the remiander when 22 + 222 + 2222

+……+(222……49 times)2  is divided by 9.
t c 22 + 222 + 2222  +……+(222……49 times)2

dks 9 l s Hkkx fd; k t k; s rks ' ks"ki Qy gksxkA
(a) 0 (b) 2
(c) 4 (d) 6

72. Find the remiander when (2222)5555 + (5555)2222
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is divided by 7.
t c  (2222)5555 + (5555)2222 dks 7 l s Hkkx fd; k
t k; s rks ' ks"ki Qy gksxkA
(a) 0 (b) 1
(c) 4 (d) 5

73. Find the remiander when 323232  is divided 3.
t c 323232  dks 3 l s Hkkx fd; k t k; s rks ' ks"ki Qy
gksxkA
(a) 0 (b) 1
(c) 3 (d) 2

74. Find the remiander when 323232  is divided 5.
t c  323232  dks 5 l s Hkkx fd; k t k; s rks ' ks"ki Qy
gksxkA
(a) 0 (b) 1
(c) 3 (d) 2

75. Find the remiander when 323232  is divided 6.
t c  323232  dks 6 l s Hkkx fd; k t k; s rks ' ks"ki Qy
gksxkA
(a) 0 (b) 5
(c) 4 (d) 2

76. Find the remiander when 323232  is divided 7.
t c  323232  dks 7 l s Hkkx fd; k t k; s rks ' ks"ki Qy
gksxkA
(a) 6 (b) 1
(c) 3 (d) 4

77. Find the remiander when 323232  is divided 9.
t c 323232  dks 9 l s Hkkx fd; k t k; s rks ' ks"ki Qy gksxkA
(a) 4 (b) 5
(c) 3 (d) 6

78. Find the remiander when 323232  is divided 10.
t c 323232  dks 10 l s Hkkx fd; k t k; s rks ' ks"ki Qy
gksxkA
(a) 6 (b) 1
(c) 4 (d) 2

79. Find the remiander when 323232  is divided 11.
t c  323232  dks 11 l s Hkkx fd; k t k; s rks ' ks"ki Qy
gksxkA
(a) 10 (b) 1
(c) 3 (d) 2

80. What should be added to 8315945 × 8315947,
so that number will be a perfect square.
O; at d  8315945 × 8315947 esa D; k t ksM+k t k; s fd
i w.kZ oxZ cu t k; sA
(a) 10 (b) 1
(c) 8315945 (d) 831594

81. If a expression x + 2374156 × 5374158 is a
perfect square, then find the value of x.
; fn O; at d x + 2374156 × 5374158 , d i w.kZ oxZ
gS rks x dk eku D; k gksxk\
(a) 10 (b) 1

(c) 2374156 (d) 5374158
82. If a number is  divided by certain divisor, then re-

mainder is 43 and when another number is divided
by the same divisior then remainder is 37, but when
the sum of both the number is divided by the same
divisor, then the remainder is 13. Find divisor.
; fn , d l a[ ; k dks , d fuf' pr Hkkt d l s Hkkx fn; k
t k; s rks ' ks"ki Qy 43 cprk gS vkSj , d nwl jh l a[ ; k dks
bl h Hkkt d l s Hkkx fn; k t k; s rks ' ks"ki Qy 37 cprk gS
; fn nksuksa l a[ ; kvksa ds ; ksx dks ml h Hkkt d l s Hkkx nsa rks
' ks"ki Qy 13 cprk gS] rc Hkkt d Kkr djsaA
(a) 67 (b) 80
(c) 13 (d) None of these

83. Find the factor of 341 + 782

O; at d 341 + 782 dk , d xku[ kaM gksxkA
(a) 10 (b) 26
(c) 63 (d) 49

84. Which is prime number?
fuEu esa l s dkSu&l h vHkkT;  l a[ ; k gS\
(a) 1001 (b) 100001
(c) 1027 (d) 1009

85. Find the sum of
1 + 2 + 3 + ..................... + 50 + 49 + ......... + 3
+ 2 + 1
O; at d 1 + 2 + 3 + ..................... + 50 + 49 +
......... + 3 + 2 + 1 cjkcj gksxkA
(a) 2500 (b) 2550
(c) 2600 (d) 2450

86. Find the number of factor of 80.
80 ds xku[ kaMksa dh l a[ ; k gksxhA
(a) 10 (b) 12
(c) 6 (d) 8

87. Find the sum of factor of 50.
50 ds xku[ kaMksa dk ; ksx gksxkA
(a) 92 (b) 93
(c) 97 (d) 91

88. Find the average of factor 60.
60 ds l Hkh xku[ kaMksa dk vkSl r gksxkA
(a) 12 (b) 13
(c) 14 (d) 16

89. If 12 + 22 + 32 + 42 + ............ + 102 = 385 then
find the value of 22 + 42 + 62 + ............ + 202

; fn 12 + 22 + 32 + 42 + ............ + 102 = 385 rc
22 + 42 + 62 + ............ + 202 dk eku Kkr djsaA
(a) 1250 (b) 1540
(c) 1190 (d) 1375

90. Find the value of, 13 + 33 + 53 + 73 + ...........+ 293

O; at d 13 + 33 + 53 + 73 + ...........+ 293 dk eku gksxkA
(a) 36100 (b) 101025
(c) 32500 (d) 44700

91. If 13 + 23 + 33  + 43 + .................... + 103 = 3025
the find the value of 23 + 43 + 63 + ........+ 203.
; fn 13 + 23 + 33  + 43 + .................... + 103 =
3025 rc 23 + 43 + 63 + ........+ 203 dk eku gksxkA
(a) 2875 (b) 24200
(c) 3080 (d) 39400



                      Contact  No. :   9555202436,  9716761136                               7

MATHSWITHABHINAY CLASSES

??????????????????????????????????????????????????
630, 3rd Floor Near Aggarwal Sweets Mukherjee Nagar

92. A man engaged a servant on the condition that
the he would pay him Rs 3000 and one uniform
after one year of sevice. He served only for 9
months and got Rs 2200 and a uniform. What is
the price of uniform?
, d vkneh us , d ukSdj dks bl  ' krZ i j  fu; qDr fd; k
fd og ml s 3000 #- nsxk vkSj , d l ky ckn onhZ nsxkA
ml us 9 eghus dke fd; k vkSj 2200 #- vkSj , d onhZ
feyh rks ml dh onhZ dh dher D; k gS\
(a) 100 (b) 200
(c) 250 (d) 400

93. The taxi charges in a city contain fixed charges and
additional charge/km. The charge for a distance of
10 km is Rs 350 and for 25 km is 800. The charge
for a distance for a distance of 30 km is:
, d ' kgj esa VSDl h dk fdjk; k ,d fuf' pr nwjh rd fu; r gS
rFkk ml ds ckn i zfr fdeh- vfrfjDr ns;  gSA ; g fdjk; k 5
fdeh- rd fu; r gS rFkk ml ds ckn i zfr fdeh- vfrfjDr ns;
gSA 10 fdeh- nwjh dk dqy fdjk; k 350 #- rFkk 25 fdeh- nwjh
dk 800 #- gS] rks 30 fdeh- nwjh dk fdruk fdjk; k gksxk\
(a) Rs 900 (b) Rs 950
(c) Rs 800 (d) Rs 750

94. A labourer was appointed by a contractor on the
condition that he would be paid Rs 75 for each
day of his work but would be fined at the rate of
Rs 15 per day for his absence, apart from losing
his wages. After 20  days, the contractor paid the
labourer Rs 1140. The number of days the
labourer absented from the work was:
, d Bsdsnkj us , d et nwj dks bl  ' krZ i j  fu; qDr fd; k
fd og ml s i zfrfnu 75 #- nsxk ysfdu ml dh vuqi fLFkfr
ds fy,  , d fnu dk 15 #- t qekZuk djsxkA 20 fnu ds
ckn Bsdsnkj et nwj dks 1140 #- nsrk gS rks et nwj fdrus
fnu vuqi fLFkr jgkA
(a) 3 days (b) 5 days
(c) 4 days (d) 2 days

95. A man employed in an office on the condition
that he will get Rs 20 for each day he attends the
office and Rs 10 will be deducted from his sal-
ary for each day he absents. If in a month of  30
working days, he earned Rs 450, find the num-
ber of days he attended the office.
, d vkneh dk; kZy;  esa bl  ' krZ i j fu; qDr gksrk gS fd
ml s i zfrfnu 20 #- feysaxsa vkSj ; fn og vuqi fLFkr gks
t krk gS] rks i zfrfnu ds 10#- ml dh osru l s de fd,
t k, axsA ; fn og 30 fnu dke djrk gS vkSj 450 #-
dekrk gS rks ml us fdrus fnu dk; kZy;  esa mi fLFkr jgk\
(a) 12 days (b) 15 days
(c) 20 days (d) 25 days

96. Krishna has some hens and some goats. If the
total number of animal heads are 81 and total
number  of animal legs are 234, how many goats
does Krishna has?

Ñ".kk ds i kl  dqN eqxhZ vkSj dqN cdjh gSaA ; fn dqy
fl j  fxus t k; sa rks 81 gSa vkSj dqy Vkaxs 234 gSa rks ml ds
i kl  fdruh cdfj; ka gSaA
(a) 45 (b) 24
(c) 36 (d) None of these

97. In a two-digit number, the digit at unit place is 1
more than twice of the digit at tens place. If the
digit at unit and tens place be interchanged, then
the differecne between the new number and origi-
nal number is less than 1 to that of original num-
ber. What is the original number?
, d nks vadksa dh l a[ ; k esa bdkbZ dk vad ngkbZ ds vad
l s , d T; knk gSA ; fn bdkbZ ds vad vkSj ngkbZ ds vad
dks vki l  esa cny fn; k t k; s rks bl  i zdkj cuh u; h
vkSj ewy l a[ ; k dk varj ewy l a[ ; k l s 1 de gSA ewy
l a[ ; k gksxhA
(a) 52 (b) 37
(c) 25 (d) 49

98. If the two digits of the age of Mr Manoj are reversed
then the new age so obtained is the age of his wife.
1

11
 of the sum of their ages is equal to the difference

between their ages. If Mr Manoj is elder than his
wife then find the difference between their ages.
; fn eukst  dh vk; q ds vadks dks i yV fn; k t k; s rks
ml dh i Ruh dh vk; q i zkIr gksrh gSA nksuksa dh vk; q ds

; ksx dk 1
11

mudh vk; q ds varj ds cjkcj gSA ; fn
eukst  v i uh i Ruh l s cM+k gS] rks nksuksa dh vk; q dk
varj gksxk&
(a) Cannot be determined
(b) 10 years
(c) 9 years
(d) 7 years

99. The digit in the units place of a number is equal to the
digit in the tens place of half of that number and the digit
in the tens place of that number is less than the digit in
units place of half of the number by 1. If the sum ofthe
digits of the number is seven, then what is the number?
, d nks vadks dh l a[ ; k esa bdkbZ dk vad ngkbZ ds vad dk
vk/ k gSA ngkbZ dk vad bdkbZ ds vad ds vk/ s l s , d de
gSA ; fn nksuksa vadksa dk ; ksx 7 gks rks l a[ ; k D; k gksxh&
(a) 52 (b) 16
(c) 34 (d) Data inadequate

100. Assuming that A, B and C are different single-digit nu-
merical values other than what is already used in the fol-
lowing equation, what number C definitely cannot be?
8A2 + 3B5 + C4 = 1271
A, B vkSj C l Hkh , d vad gSa rFkk uhps fn,  x,  l aca/
dks l arq"V djrs gSa rks fuf' pr : i  l s C ugha gks l drk&
8A2 + 3B5 + C4 = 1271
(a) 7 (b) 9
(c) Either 7 or 9 (d) None of these
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101. The greatest fraction among 15
11,

6
5,

3
2

 and 8
7

 is

15
11,

6
5,

3
2

 vkSj  8
7

  esa l s l cl s cM+h fHkUu dkSu l h gS\

(a) 8
7

(b) 15
11

(c) 6
5

(d) 3
2

102. The greatest among the following numbers

6
1

2
1

3
1

)6(,1,)2(,)3(  is :

fuEu esa l s dkSu l cl s cM+k gS& 6
1

2
1

3
1

)6(,1,)2(,)3(

(a) 2
1

)2( (b) 1

(c) 6
1

)6( (d) 3
1

)3(

103. The least number among 
4 9,  
9 49

, 0.45 and

(0.8)2 is

4 9,  
9 49

, 0.45 vkSj  (0.8)2 esa l s l cl s NksVh l a[ ; k
D; k gS\

(a) 9
4

(b) 49
9

(c) 0.45 (d) (0.8)2

104. 234.0  is equivalent to the fraction :

234.0  ds rqY;  fHkUu :

(a) 990
491

(b) 990
419

(c) 99
49

(d) 99
94

105. The value of  37.063.0   is

 37.063.0   dk eku--

(a) 1 (b) 99
100

(c) 100
99

(d) 33
100

106. The difference of 76.5 and 3.2  is

76.5  vkSj  3.2  dk varj fdruk gS\
(a) 54.2 (b) 73.3
(c) 46.3 (d) 43.3

107. The decimal fraction 493.2  is equal to

493.2  dk n' keyo eku
(a) 2326/999 (b) 2326/990

(c) 2347/999 (d) 2347/990
108. Which of the following numbers is the greatest

of all?
0.9, 0.9, 0.09, 0.09
fuEu esa l s l cl s cM+h l a[ ; k dkSu l h gS\
0.9, 0.9, 0.09, 0.09

(a) 0.9 (b) 0.9

(c) 0.09 (d) 09.0

109. 27.1  in the form q
p

 is equal to

27.1  dks  q
p

 ds : i  esa fdl  i zdkj fy[ kk t k l drk gS\

(a) 100
127

(b) 100
73

(c) 11
14

(d) 14
11

110. A number when divided by 899 gives a
remainder 63. If the same number is divided
by 29, the remainder will be :
fdl h l a[ ; k dks 899 l s Hkkx nsus i j 63 ' ks"k cprk gSA
ml h l a[ ; k dks 29 l s Hkkx nsus i j D; k ' ks"k cpsxk\
(a) 10 (b) 5
(c) 4 (d) 2

111. When a number is divided by 56, the remainder
obtained is 29. What will be the remainder
when the number is divided by 8?
fdl h l a[ ; k dks 56 l s Hkkx nsus i j  29 ' ks"k cprk gSA
ml h l a[ ; k dks 8 l s Hkkx nsus i j  D; k ' ks"k cpsxk\
(a) 4 (b) 5
(c) 3 (d) 7

112. A number when divided successively by 4 and
5 leaves remainders 1 and 4 respectively. When
it is successively divided by 5 and 4 the
respective remainders will be
fdl h l a[ ; k dks Øe' k% 4 vkSj 5 l s Hkkx nsus i j
' ks"ki Qy 1 vkSj 4 i zkIr gksrs gaSA ml h l a[ ; k dks Øe' k%
5 vkSj 4 l s Hkkx nsus i j  ' ks"ki Qy D; k i zkIr gksaxs\
(a) 4, 1 (b) 3, 2
(c) 2, 3 (d) 1, 3

113. When two numbers are separately divided by
33, the remainders are 21 and 28 respectively.
If the sum of the two numbers is divided by
33, the remainder will be
; fn nks l a[ ; kvksa dks vyx&vyx 33 l s Hkkx fn; k t k; s
rks Øe' k% 21 vkSj 28 ' ks"k cprs gSaA ; fn mu l a[ ; kvksa
ds ; ksx dks 33 l s Hkkx fn; k t k; s rks ' ks"k D; k cpsxk\
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(a) 10 (b) 12
(c) 14 (d) 16

114. A number when divided by 3 leaves a
remainder 1. When the quotient is divided by
2, it leaves a remainder 1. What will be the
remainder when the number is divided by 6?
fdl h l a[ ; k dks 3 l s Hkkx nsus i j 1 ' ks"k cprk gSA ; fn
HkkxiQy dks 2 l s Hkkx fn; k t k; s rks 1 ' ks"k cprk gSA ; fn
l a[ ; k dks 6 l s Hkkx fn; k t k; s rks ' ks"ki Qy D; k cpsxk\
(a) 3 (b) 4
(c) 5 (d) 2

115. A number divided by 13 leaves a remainder 1
and if the quotient, thus obtained, is divided
by 5, we get a remainder of 3. what will be the
remainder if the number is divided by 65?
fdl h l a[ ; k dks 13 l s Hkkx nsus i j  1 ' ks"k cprk gSA
; fn Hkkxi Qy dks 5 l s Hkkx fn; k t k; s rks 3 ' ks"k
cprk gSA ; fn l a[ ; k dks 65 l s Hkkx fn; k t k; s rks
' ks"ki Qy D; k cpsxk\
(a) 28 (b) 16
(c) 18 (d) 40

116. (719+2) is divided by 6, the remainder is:
(719+2) dks 6 l s Hkkx nsus i j  D; k ' ks"k i zkIr gksxk\
(a) 5 (b) 3
(c) 2 (d) 1

117. 'Zero' is –  ( '̂ kwU; * gS)
(a) odd number  ( fo"ke l a[ ; k)
(b) even number  ( l e l a[ ; k)
(c) Both odd & even ( fo"ke rFkk l e nksuksa)
(d) Neither odd nor even (nksuksa esa l s dksbZ ugh)

118. 'One' is ( ,̂ d* gS)
(a) prime number (vHkkT;  l a[ ; k)
(b) composite number (HkkT;  l a[ ; k)
(c) Both (a) and (b) [(a) vkSj  (b) nksuksa]
(d) Neither (a) nor (b) [u rks (a) u gh (b)]

119. Find the irrational number between 2 &3.

2 vkSj 3 ds chp v i fjes;  l a[ ; k gksxh&
(a) 6 (b) 5

(c) 7 (d) 8

120. When 'n' is divisible by 5 the remainder is 2.
What is the remainder when n2 is divided by 5?
; fn 'n' dks 5 l s Hkkx fn; k t k; s rks 2 ' ks"k cprk gSA
' ks"ki Qy D; k gksxk ; fn n2 dks 5 l s Hkkx fn; k t k; s\
(a) 2 (b) 3
(c) 1 (d) 4

121. (4915–1) is exactly divisible by :
(4915-1) fuEu esa l s fdl  l a[ ; k l s foHkkft r gksxk:
(a) 50 (b) 51
(c) 29 (d) 8

122. If a and b are two odd positive integers, by
which of the following integers is (a4 – b4)
always divisible?
; fn a vkSj b nks fo"ke / ukRed i w.kk±d gksa rks (a4 -
b4) fuEu esa fdl l s i w.kZr% foHkkft r gksxk\
(a) 3 (b) 6
(c) 8 (d) 12

123. If m and n are positive integers and (m – n) is
an even number, then (m2– n2) will be always
divisible by
; fn m vkSj n  / ukRed i w.kk±d gksa vkSj (m-n) , d
l e l a[ ; k gks] rks (m2-n2)  fuEu esa fdl l s i w.kZr%
foHkkft r gksxk\
(a) 4 (b) 6
(c) 8 (d) 12

124. If n is an integer, then (n3 – n) is always divisible by :
; fn n , d i w.kk±d gks rks (n3 - n) fdl l s foHkkft r gksxk\
(a) 4 (b) 5
(c) 6 (d) 7

125. If n is a whole number greater than 1, then n2

(n2–1) is always divisible by :
; fn n , d cM+h i w.kZ l a[ ; k gS] rks  n2 (n2-1) l nSo
foHkkft r gksxk &
(a) 16 (b) 12
(c) 10 (d) 8

126. The largest number that exactly divides each
number of the form n3– n, where n is a natural
number, is :

og l cl s cM+h l a[ ; k t ks (n3-n) ds : i  okyh i zR; sd l a[ ; k
dks i w.kZr% foHkkft r djsxh t gka n , d i zkÑfrd l a[ ; k gS :
(a) 12 (b) 6
(c) 3 (d) 2

127. Find the largest number, which exactly divides
every number of the from (n3-n) (n-2) where n
is a natural number greater than 2.

og l cl s cM+h l a[ ; k t ks  (n3-n) (n-2)  ds : i  okyh
i zR; sd l a[ ; k dks i w.kZr% foHkkft r djsxh t gka n nks l s
cM+h , d i zkÑfrd l a[ ; k gS :
(a) 6 (b) 12
(c) 24 (d) 48

128. 461 + 462 + 463 + 464 is divisible by :

461 + 462 + 463 + 464 foHkkT;  gS :
(a) 3 (b) 10
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(c) 11 (d) 13

129. (325 + 326 + 327 + 328) is divisible by

(325 + 326 + 327 + 328) foHkkT;  gS%
(a) 11 (b) 16
(c) 25 (d) 30

130. Which one of the following will completely
divide 571 + 572 + 573?

fuEu esa l s dkSu 571 + 572 + 573 dks i w.kZr% foHkkft r
djsxk ?
(a) 150 (b) 160
(c) 155 (d) 30

131. 216–1 is divisible be (216-1 foHkkT;  gS%)
(a) 11 (b) 13
(c) 17 (d) 19

132. The expression 26n – 42n, where n is a natural
number is always divisible by

O; at d 26n - 42n, t gka n , d i zkÑfrd l a[ ; k gS] l nSo
HkkT;  gS&
(a) 15 (b) 18
(c) 36 (d) 48

133. (461 + 462 + 463) is divisible by

(461 + 462 + 463) foHkkT;  gS%
(a) 3 (b) 11
(c) 13 (d) 17

134. The greatest common divisor of 33333 +1 and
33433 + 1 is :

l a[ ; kv ksa 33333 +1 v kSj  33433 + 1 dk v f/ dre
mHk; fu"B Hkkt d gS :
(a) 2 (b) 1

(c) 33333 +1 (d) 20

135. The number of integers in between 100 and
600, which are divisible by 4 and 6 both, is

100 l s 600 ds eè;  4 vkSj 6 nksuksa l a[ ; kvksa l s
foHkkft r i w.kk±d fdrus gksaxs\
(a) 40 (b) 42
(c) 41 (d) 50

136. How many natural numbers divisible by 7 are
there between 3 and 200?

3 l s 200 ds eè;  fdruh i zkÑfrd l a[ ; k, a 7 l s
foHkkft r gksaxh\

(a) 27 (b) 28
(c) 29 (d) 36

137. The sum of all natural numbers between 100
and 200, which are multiples of 3 is :

100 l s 200 ds chp l Hkh i zkÑfrd l a[ ; kvksa dk
; ksx t ks 3 ds xkt  gSa\
(a) 5000 (b) 4950
(c) 4980 (d) 4900

138. The sum of all the 3-digit numbers, each of
which on division by 5 leaves remainder 3, is

3 vadksa okyh l Hkh l a[ ; kvksa dk ; ksx] ft uesa l s
i zR; sd dks 5 l s foHkkft r djus i j  3 ' ks"k cprk gS\
(a) 180 (b) 1550
(c) 6995 (d) 99090

139. The total number of integers between 100 and
200, which are divisible by both 9 and 6, is:

100 l s 200 ds chp l a[ ; kvksa 9 vkSj 6 nksuksa l s
HkkT;  i w.kk±dksa dh dqy l a[ ; k :
(a) 5 (b) 6
(c) 7 (d) 8

140. How many number between 1000 and 5000 are
exactly divisible by 225?

225 l s foHkkT;  1000 vkSj 5000 ds chp fdruh l a[ ; k,a gSa\
(a) 16 (b) 18
(c) 19 (d) 12

141. If 5432*7 is divisible by 9, then the digit in
place of * is :

; fn 5432*7, l a[ ; k 9 l s i w.kZr% foHkkft r gks rks *
ds LFkku i j  D; k vad vk; sxk\
(a) 0 (b) 1
(c) 6 (d) 9

142. If the number 4 8 3 0 7 * 8 is divisible by
divisible by 11, then the missing digit (*) is

; fn 4 8 3 0 7 * 8 , l a[ ; k 11 l s i w.kZr% foHkkft r gks
rks * ds LFkku i j  D; k vad vk; sxk\
(a) 5 (b) 3
(c) 2 (d) 1

143. Both the end digits of a 99 digit number N are 2. N
is divisible by 11, then all the middle digits are :

99&vadh;  l a[ ; k N ds nksuksa Nksj i j  fLFkr vad 2
gSA ; fn N l a[ ; k 11 l s i w.kZr% foHkkft r gks rn~uql kj
chp dh l a[ ; k, ¡ gSa&
(a) 1 (b) 2
(c) 3 (d) 4
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144. If a number is divisible by both 11 and 13, then
it must be necessarily :

; fn , d l a[ ; k 11 vkSj 13 nksuksa l s HkkT;  gks
rn~uql kj ; g v fuok; Z : i  l s HkkT;  gksxh :
(a) divisible by (11+13)
(b) divisible by (13-11)
(c) divisible by (11×13)
(d) 429

145. If the sum of the digits of any integer lying
between 100 and 1000 is subtracted from the
number, the result always is

; fn 100 vkSj 1000 ds chp fdl h l a[ ; k ds vadkas
dk ; ksx l a[ ; k esa l s ?kVk; k t k; s rks i fj .kke l nSo
foHkkft r gksxk
(a) divisible by 6 (b) divisible by 2
(c) divisible by 9 (d) divisible by 5

146. The difference of a number consisting of two
digits from the number formed by
interchanging the digits is always divisible by

fdl h nks vadh;  l a[ ; k vkSj vad i yVus i j  cuh u; h
l a[ ; k dk varj l nSo foHkkT;  gS&
(a) 10 (b) 9
(c) 11 (d) 6

147. Which of the following numbers will always
divide a six-digit number of the form xyxyxy
(where 1   x   9, 1   y   9)?
fuEu esa l s dkSu l h l a[ ; k xyxyxy (t gk¡ 1   x   9,
1   y   9) ds : i  okyh 6&vadh;  l a[ ; k dks l nSo
foHkkft r djsxh\
(a) 1010 (b) 10101
(c) 11011 (d) 11010

148. If the number formed by the last two digits of a
three digit integer is an integral multiple of 6, the
orginal integer itself will always be divisible by
; fn fdl h 3&vadh;  l a[ ; k ds vafre 2 vad 6 ds
xkt  gksa] rn~uql kj l a[ ; k foHkkT;  gksxh&
(a) 6 (b) 3
(c) 2 (d) 12

149. A number consists of two digits. If the number
formed by interchanging the digits is added to
the original number, the resulting number (i.e.
the sum) must be divisible by
, d l a[ ; k 2 vadks l s cuh gSA ; fn vad i yVus i j
cuh l a[ ; k dks ewy l a[ ; k esa t ksM+ fn; k t k; s rks
i fj .kkeh l a[ ; k l nSo HkkT;  gksxh&
(a) 11 (b) 9
(c) 5 (d) 3

150.In a two-digit number, the unit digit is eqal to
the square of tens digit. The difference between
the original number and the number formed by
interchanging the digits is 54. What is the origi-
nal numbar?
, d nks vadksa dh l a[ ; k essa bdkbZ dk vad ngkbZ ds vad
dk oxZ gSA vadksa dks i yV nsus i j  cuh l a[ ; k vkSj ewy
l a[ ; k dk varj 54 gSA ewy l a[ ; k D; k gS\
(a) 24 (b) 39
(c) 54 (d) 93

151. A two digit number is five times the sum if
its digits. If 9 is added to the number, the digits
interchange their positions. The sum of digits of
the numbers is :
, d nks vadksa dh l a[ ; k vadksa ds ; ksx dk 5 xquk gSA
; fn l a[ ; k esa 9 t ksM+ fn; k t k; s rks vad vki l  esa LFkku
cny ysrs gSaA vadksa dk  ; ksx gksxk&
(a) 11 (b) 9
(c) 7 (d) 6

152.In a three digit number, the digit in the unit's place
is 75% of the digit in the ten's place. The digit in
ten's place is greater than the digit in the hundred's
place by 1. If the sum of digits in the ten's place
and the hundred's place is 15, what is the number?
, d rhu l a[ ; k esa bdkbZ dk vad ngkbZ ds vad dk 75» gSA
ngkbZ dk vad l SdM+s ds vad l s , d T; knk gSA ; fn ngkbZ vkSj
l SdM+s ds vadksa dk ; ksx 15 gS rks l a[ ; k D; k gksxh\
(a) 795 (b) 786
(c) 687 (d) None of these

153. In a three-digit number, the digit in the unit's
place is 4 times the digit in the hundred's place.
If the digit in the unit's place and ten's place are
interchanged, the new number such formed is 18
more than the original number. If the digit in the
hundred's place is one-third of the digit in the
ten's place, what is 25% of the original number?
, d rhu vadksa dh l a[ ; k esa bdkbZ dk vad l SdM+s ds
vad dk 4xquk gSA ; fn bdkbZ dk vad vkSj ngkbZ dk
vad vki l  esa cny fn,  t k; sa rks cuh gqbZ u; h l a[ ; k
ewy l a[ ; k l s 18 T; knk gSA ; fn l SdM+s dk vad ngkbZ
ds vad dk 1@3 gks rks ewy l a[ ; k dk 25» gksxkA
(a) 31 (b) 67
(c) 107 (d) None of these

154.Three numbers which are co-prime to one an-
other are such that the product of the first two is
475 and that of the last two numbers is 1075.
Find the sum of the three numbers.
rhu l a[ ; k, a vki l  esa l g&vHkkT;  gSaA i gyh nks l a[ ; kvksa
dk xkui Qy 475 gS rFkk vafre nks l a[ ; kvksa dk xkui Qy
1075 gSA rhuksa l a[ ; kvksa dk ; ksxk gksxk&
(a) 75 (b) 78
(c) 87 (d) 89

155.Three numbers which are co-prime to one an-
other are such that the product of the first two is
551 and that of the last two numbers is 1073.
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The sum of the three numbers is:
rhu l a[ ; k, a vki l  esa l g&vHkkT;  gSaA i gyh nks l a[ ; kvksa
dk xkui Qy 551 gS rFkk vafre nks l a[ ; kvksa dk xkui Qy
1073 gSA rhuksa l a[ ; kvksa dk ; ksxk gksxk&
(a) 75 (b) 81
(c) 85 (d) 89

156. The difference between two numbers is 1375.
On dividing number by the smaller number, the
quotient is 6 and the remainder is 25. Find the
smaller number.
nksa l a[ ; kvksa dk varj 1375 gSA cM+h l a[ ; k dks NksVh
l a[ ; k l s Hkkx nsus i j  Hkkxi Qy 6 vkSj ' ks"ki Qy 25 gSA
l cl s NksVh l a[ ; k gksxh&
(a) 250 (b) 270
(c) 275 (d) 300

157. What is the least number which should be
subtracted from 0.000326, to have perfect square?
0-000326 esa l s D; k U; wure l a[ ; k ?kVk; h t k; s rkfd
i zkIr l a[ ; k i w.kZ oxZ gks t k; s\
(a) 0.000004 (b) 0.000002
(c) 0.04 (d) 0.02

158. The smallest number to be added to 1000, so
that 45 divides the sum exactly, is :
1000 esa D; k U; wure l a[ ; k t ksM+h t k; s rkfd ; ksx
45 l s i w.kZr% foHkkft r gks t k; s\
(a) 35 (b) 80
(c) 20 (d) 10

159. By which smallest number should 5808 be
multiplied so that it becomes a perfect square?
5808 esa fdl  U; wure l a[ ; k l s xkk dh t k; s rkfd
xkui Qy i w.kZ oxZ cu t k; s\
(a) 2 (b) 7
(c) 11 (d) 3

160. The least number that must be subtracted from
63520 to make the result a perfect square, is ;
63520 esa l s D; k U; wure l a[ ; k ?kVk; h t k; s rkfd
i zkIr l a[ ; k i w.kZ oxZ cu t k; s\
(a) 16 (b) 20
(c) 24 (d) 30

161. The smallest number of five digits exactly
divisible by 476 is
5 vadksa dh NksVh l s NksVh l a[ ; k t ks 476 l s i w.kZr%
foHkkft r gks\
(a) 47600 (b) 10000
(c) 10476 (d) 10472

162. The least number of five digits which has 123
as a factor is
5 vadkas dh l cl s NksVh l a[ ; k ft l dk , d xku[ k.M
123 gks\
(a) 10037 (b) 10086

(c) 10081 (d) 10063
163. When 335 is added to 5A7, the result is 8B2.

8B2 is divisible by 3. What is the largest
possible value of A?
; fn 335 dks 5A7 esa t ksM+k rks 8B2 i zkIr gksrk gSA 8B2,
3 l s foHkkT;  l a[ ; k gSA A dk vf/ dre eku D; k gS\
(a) 8 (b) 2
(c) 1 (d) 4

164. The value of  for which the expression x3 +x2

- 5x +   will be divisible by (x-2) is

 dk eku ft l ds fy,  O; at d   (x3 +x2 - 5x +  ),
(x-2) l s i w.kZr% foHkkft r gksxk\
(a) 2 (b) -2
(c) -3 (d) 4

165. 7, 77, 77, 777  77 equals

7, 77, 77, 777  77 dk eku
(a) 1111 (b) 1010001
(c) 10101 (d) 1010101

166. 3
2

 of three-fourth of a number is :

fdl h l a[ ; k dk 3
2

 %

(a) 2
1

 of the number

(b) 3
1

 of the number

(c) 9
8

 of the number

(d) 12
17

 of the number

167. A number exceeds its one-fifth by 20.. The
number is

, d l a[ ; k Lo; a ds 1
5 l s 20 vf/ d gSA l a[ ; k D; k gS\

(a) 100 (b) 25
(c) 20 (d) 5

168. The numbers 1, 3, 5, 7, ...., 99 and 128 are
multiplied together. The number of zeros at the
end of the product must be :

l a[ ; kvksa 1, 3, 5, 7, ...., 99 vkSj  128 dh vki l  esa
xkk dh t krh gSA xkui Qy ds vUr esa ' kwU; ksa dh l a[ ; k
gksxh%
(a) 19 (b) 22
(c) 7 (d) Nil

169. The numbers 2, 4, 6, 8......98, 100 are multiplied
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together. The number of zeros at the end of the
product must be :

l a[ ; kvksa 2, 4, 6, 8......98, 100  dh vki l  esa xkk
dh t krh gSA xkui Qy ds vUr esa ' kwU; ksa dh l a[ ; k
gksxh%
(a) 13 (b) 12
(c) 11 (d) 10

170. The number 1, 2, 3, 4, ....., 1000 are multiplied
together. The number of zeros at the end (on
the right) of the product must be :

l a[ ; kvksa 1, 2, 3, 4, ....., 1000  dh vki l  esa xkk dh
t krh gSA xkui Qy ds vUr esa ' kwU; ksa dh l a[ ; k gksxh%:
(a) 30 (b) 200
(c) 211 (d) 249

171. A divisor is 25 times the quotient and 5 times
the remainder. The quotient is 16, the dividend
is

Hkkt d] Hkkxi Qy dk 25 xquk vkSj ' ks"ki Qy dk 5 xquk
gSA ; fn Hkkxi Qy 16 gks rks HkkT;  D; k gksxk\
(a) 6400 (b) 6480
(c) 400 (d) 480

172. In a division sum, the divisor is 10 times the
quotient and 5 times the remainder. If the
remainder is 46, then the dividend is

Hkkx ds , d i z' u esa] Hkkt d Hkkxi Qy dk 10 xquk
vkSj ' ks"ki Qy dk 5 xquk gSA ; fn ' ks"ki Qy 46 gks rks
HkkT;  D; k gksxk\
(a) 4236 (b) 4306
(c) 4336 (d) 5336

173. 64329 is divided by a certain number. White
dividing, the numbers, 175, 114 and 213 appear
as three successive remainders. The divisor is
64329 dks , d fuf' pr l a[ ; k l s Hkkx fn; k t krk gS
; fn 175] 114 vkSj 213 Øekxr ' ks"ki Qy gksa rks
Hkkt d D; k gS\
(a) 184 (b) 224
(c) 234 (d) 296

174. In a question on division, the divisor is 7 times
the quotient and 3 times the remainder. If the
remainder is 28, then the dividend is
Hkkx ds ,d i z' u esa] Hkkt d HkkxiQy dk 7 xquk vkSj ' ks"kiQy
dk 3 xquk gSA ; fn ' ks"kiQy 28 gks rks HkkT;  D; k gksxk\
(a) 588 (b) 784
(c) 823 (d) 1036

175. If two number are each divided by the same
divisor, the remainders are respectively 3 and 4.
If the sum of the two numbers be divided by the
same divisor, the remainder is 2. The divisor is
; fn nks l a[ ; kvksa dks , d fuf' pr l a[ ; k N  l s Hkkx
fn; k t k; s rks 3 vkSj 4 Øekxr ' ks"k cprs gSA ; fn mu
l a[ ; kvksa ds ; ksx dks ml h l a[ ; k N l s Hkkx fn; k

t k; s rks 2 ' ks"k cprk gSA N D; k gS\
(a) 9 (b) 7
(c) 5 (d) 3

176. Two numbers, when divided by 17, leave
remainders 13 and 11 respectively. If the sum
of those two numbers is divided by 17, the
remainder will be
nks l a[ ; k, a t c 17 l s foHkkft r dh t krh gSa] rks Øe' k%
13 vkSj 11 ' ks"k cprk gSA ; fn mu l a[ ; kvksa ds ; ksx dks
17 l s foHkkft r fd; k t k; s] rks ' ks"k D; k  cpsxk\
(a) 13 (b) 11
(c) 7 (d) 4

177. When an integer K is divided by 3, the
remainder is 1, and when K+ 1 is divided by 5,
the remainder is 0. Of the following, a possible
value of K is
, d i w.kk±d K dks 3 l s Hkkx nsus i j  1 ' ks"k cprk gS
vkSj ; fn K + 1 dks 5 l s Hkkx nh t k; s rks 0 cprk
gSA K dk l aHkkfor eku fuEu esa l s dkSu l k gS%
(a) 62 (b) 63
(c) 64 (d) 65

178. A student was asked to multiply a number by

2
3

 but he divided that number by 2
3

. His result
was 10 less than the correcrt answer. The
number   was -

, d Nk=k l ss fdl h l a[ ; k dks 2
3

 l s xkk djus ds fy,

dgk x; kA ml  Nk=k us 2
3

 l s foHkkft r dj fn; kA
vr% ml dk mÙkj l gh mÙkj l s 10 de vk; kA
rnuql kj og l a[ ; k D; k Fkh\
(a) 10 (b) 12
(c) 15 (d) 20

179. A boy on being asked what 7
6

of a certain
fraction was, made the mistake of dividing the

fraction by 7
6

 and so got an answer which

exceeded the correct answer by 70
13

, Find the
fraction

, d yM+ds dks fdl h fHkUu dk 7
6  Kkr djuk Fkk]

i jUrq xyrh l s ml us fHkUu dks 7
6

 l s foHkkft r dj

fn; kA bl  i zdkj i zkIr mÙkj l gh mÙkj l s  70
13  v f/

d vk; kA ewy fHkUu D; k Fkh\

(a) 3
2

(b) 5
3

(c) 5
4

(d) 9
7

180. Instead of multiplying a number by 0.72, a
student multiplied it by 7.2. If his answer was
2592 more than the correct answer, then the
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original number was
fdl h l a[ ; k dks 0-72 l s xkk djus ds LFkku i j  , d
Nk=k us 7-2 l s xkk dj nhA bl  i zdkj i zkIr mÙkj l gh
mÙkj l s 2592 v f/ d vk; kA ewy l a[ ; k D; k Fkh\
(a) 400 (b) 420
(c) 500 (d) 560

181. A boys was asked to find the value of 8
3

 of a
sum of money. Instead of multiplying the sum

by 8
3

 he divided it by 8
3

 and then his answer
exceeded by Rs. 55. Find the correct answer?

, d Nk=k l ss fdl h / u dk 8
3

 Kkr djus ds fy,  dgk

x; kA ml  Nk=k us xkk ds LFkku i j  8
3

 l s foHkkft r dj
fn; kA vr% ml dk mÙkj l gh mÙkj l s `55 v f/ d
vk; kA rn~uql kj l gh mÙkj D; k Fkk\
(a) Rs. 9 (b) Rs. 24
(c) Rs. 64 (d) Rs. 1,320

182. A student was asked to divide a number by 6
and add 12 to the quotient. He, however, first
added 12 to the number and then divided it by
6, getting 112 as the answer. The correct answer
should have been

, d Nk=k l s fdl h l a[ ; k dks 6 l s foHkkft r djds
Hkkxi Qy esa 12 t ksM+us ds fy,  dgk x; kA ml us xyrh
l s i gys l a[ ; k esa 12 t ksM+dj fi Qj 6 l s Hkkx nhA bl
i zdkj mÙkj 112 vk; kA l gh mÙkj D; k gS\
(a) 124 (b) 122
(c) 118 (d) 114

183. In an examination a student was asked to find

14
3

 of a certain number. By mistake, he found

4
3

of it. His answer was 150 more than the
correct answer. The given number is:

, d Nk=k l ss fdl h l a[ ; k dks 3
14  l s xkk djus ds fy,

dgk x; kA ml  Nk=k us =kqfVo' k 3
4  l s xkk dj nhA bl

i zdkj i zkIr mÙkj l gh mÙkj l s 150 v f/ d vk; kA
rnuql kj og l a[ ; k D; k Fkh\
(a) 500 (b) 280
(c) 240 (d) 180

184. A girl was asked to multiply a number by 8
7

,

instead she divided the number by 8
7

and got
the result 15 more than the correct result. The
sum of the digits of the number was :

, d yM+dh l s fdl h l a[ ; k dks 7
8  l s xkk djus ds

fy,  dgk x; kA ml  Nk=k us 7
8  l s foHkkft r dj

fn; kA vr% ml dk mÙkj l gh mÙkj l s 15 v f/ d
vk; kA rnuql kj og l a[ ; k ds vadksa dk ; ksx D; k Fkk\
(a) 4 (b) 8
(c) 6 (d) 11

185. A student was asked to multiply a given number

by 17
8

. Instead, he divided the given number

by 17
8

. His answer was 225 more than the
correct answer. The given number was

, d Nk=k l ss fdl h l a[ ; k dks 8
17  l s xkk djus ds fy,

dgk x; kA ml  Nk=k us 8
17  l s foHkkft r dj fn; kA

vr% ml dk mÙkj l gh mÙkj l s 225 l s v f/ d vk; kA
rn~uql kj og l a[ ; k D; k Fkh\
(a) 64 (b) 289
(c) 136 (d) 225

186. If 1 is added to the denominator of a fraction it

becomes 2
1

. If 1 is added to the numerator it
becomes 1. The product of numerator and
denominator of the fraction is

; fn fdl h fHkUu ds gj esa 1 t ksM+ fn; k t k; s rks fHkUu 2
1 gks

t krh gSA ; fn va' k esa 1 t ksM+ fn; k t k; s rks fHkUu 1 cu
t krh gSA fHkUu ds va' k vkSj gj dk xkuiQy D; k gS\
(a) 6 (b) 10
(c) 12 (d) 14

187. The numerator of a fraction is 4 less than its
denominator. If the numerator is decreased by
2 and the denominator is increased by 1, then
the denominator becomes eight times the
numerator. Find the fraction

fdl h fHkUu dk va' k gj l s 4 de gSA ; fn va' k esa 2
dh deh dj nh t k; s vkSj gj esa 1 c<+k fn; k t k; s
rks gj va' k dk 8 xquk gks t krk gSA ewy fHkUu D; k gS\

(a) 8
3

(b) 7
3

(c) 8
4

(d) 7
2

188. A fraction becomes 3
1

when 1 is subtracted



                      Contact  No. :   9555202436,  9716761136                               15

MATHSWITHABHINAY CLASSES

??????????????????????????????????????????????????
630, 3rd Floor Near Aggarwal Sweets Mukherjee Nagar

from both the numerator and the denominator.

The same fraction becomes 2
1

when 1 is added
to both the numerator and the denominator. The
sum of numerator and denominator of the
fraction is

; fn fdl h fHkUu ds va' k vkSj gj i zR; sd esa l s 1 ?kVk

fn; k t k; s rks fHkUu 3
1  gks t krh gSA ; fn fHkUu ds va' k

vkSj gj i zR; sd esa 1 t ksM+ fn; k t k; s rks fHkUu2
1 gks

t krh gSA fHkUu ds va' k vkSj gj dk ; ksx fdruk gS\
(a) 10 (b) 18
(c) 7 (d) 16

189. If * means adding 6 times the second number
to the first number then (1*2) * 3 equals:

; fn * dk rkRi ; Z î gyh l a[ ; k esa nwl jh l a[ ; k dk 6
xquk t ksM+uk* gks rks (1*2) * 3 dk eku:
(a) 121 (b) 31
(c) 93 (d) 91

190. A number consists of two digits such that the
digit in the ten's place is less by 2 than the digit
in the units' place. Three times the number

added to 7
6

times the number obtained by
reversing the digits equals 108. The sum of
digits in the number is :

nks vadksa dh , d l a[ ; k ds ngkbZ dk vad bZdkbZ ds
vad l s 2 de gSA ; fn l a[ ; k ds 3 xqus vkSj vad

cnyus i j  cuh l a[ ; k ds  7
6 xqus dk ; ksx 108 gks rks

l a[ ; k esa vadksa dk ; ksx fdruk gS\
(a) 8 (b) 9
(c) 6 (d) 7

191. In a two-digit number, the digit at the unit's
place is 1 less than twice the digit at the ten's
place. If the digits at unit's and ten's place are
interchanged, the difference between the new
and the original number is less then the original
number by 20. the original number is

nks vadksa dh , d l a[ ; k ds bdkbZ vad ngkbZ ds vad
ds  nqxqus l s 1 de gSA ; fn bdkbZ vkSj ngkbZ ds vadksa
dks i jLi j  cny fn; k t k; s rks cuh l a[ ; k vkSj ewy
l a[ ; k dk varj 20 vkrk gSA ewy l a[ ; k D; k gS\
(a) 59 (b) 23
(c) 35 (d) 47

192. A 2 digit number is 3 times the sum of its digits.
If 45 is added to the number, its digits are inter
changed. The sum of digits of the number is

nks vadksa dh , d l a[ ; k v i us vadksa ds ; ksx dh 3
xquh gSA ; fn l a[ ; k esa 45 t ksM+ fn; k t k; s rks vad
i yV t krs gSaA l a[ ; k ds vadksa dk ; ksx D; k gS\
(a) 11 (b) 9
(c) 7 (d) 5

193. The sum of all the natural numbers from 51 to
100 is
51 l s 100 rd dh l Hkh i zkÑfrd l a[ ; kvksa dk ; ksx
D; k gS\
(a) 5050 (b) 4275
(c) 4025 (d) 3775

194. The sum of all the 3 digit numbers is
3 vadksa dh l Hkh i zkÑfrd l a[ ; kvksa dk ; ksx fdruk
gS\
(a) 98901 (b) 494550
(c) 8991 (d) 899

195. The sum of the squares of three consecutive
natural numbers is 2030. Then, what is the
middle number?
3 Øekxr i zkÑfrd l a[ ; kvksa ds oxksZ dk ; ksx 2030
gSA chp dh l a[ ; k D; k gS\
(a) 25 (b) 26
(c) 27 (d) 28

196. Sum of two numbers is 40 and their product is
375. What will be the sum of their reciprocals?
nks l a[ ; kvksa dk ; ksx 40 vkSj mudk xkui Qy 375 gSA
l a[ ; kvksa ds O; qRØeksa dk ; ksx fdruk gS\

(a) 75
8

(b) 40
1

(c) 8
75

(d) 4
75

197. The difference between two positive numbers
is 3. If the sum of their squares is 369, then the
sum of the numbers is :
nks / ukRed l a[ ; kvksa dk varj 3 gSA ; fn muds oxksZ
dk ; ksx 369 gks rks l a[ ; kvksa dk ; ksx fdruk gS :
(a) 81 (b) 33
(c) 27 (d) 25

198. Of the three numbers, the second is twice the
first and it is also thrice the third. If the average
of three numbers is 44, the difference of the
first number and the third number is :
rhu l a[ ; kvksa esa] nwl jh l a[ ; k i gyh l s nqxquh gS vkSj
rhl jh l s rhu xquh gSA ; fn rhuksa l a[ ; kvksa dk vkSl r
44 gks rks i gyh vkSj rhl jh l a[ ; k dk varj D; k gS\
(a) 24 (b) 18
(c) 12 (d) 6
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199. If the difference of two numbers is 3 and the
difference of their squares is 39, then the
larger number is
nks l a[ ; kvksa dk varj 3 gS vkSj muds oxks± dk varj
39 gSA cM+h l a[ ; k D; k gS\
(a) 8 (b) 9
(c) 12 (d) 13

200. The sum and product of two numbers are 11
and 18 respectively. The sum of their
reciprocals is
nks l a[ ; kvksa dk ; ksx vkSj xkui Qy Øe' k% 11 vkSj
18 gSA muds O; qRØeksa dk ; ksx fdruk gS\

(a) 11
2

(b) 2
11

(c) 11
18

(d) 18
11

201. The product of two fractions is 15
14

 and their

quotient is 24
35

. The greater fraction is :

nks fHkUuksa dk xkui Qy 15
14

 vkSj Hkkxi Qy 24
35

 gSA cM+h
fHkUu D; k gS\

(a) 4
7

(b) 6
7

(c) 3
7

(d) 5
4

202. By how much does 8/7
6

exceed 8
7/6

?

fHkUu 8
7/6

, fHkUu 8/7
6 l s fdruh v f/ d gS?

(a) 8
16 (b) 4

36

(c) 4
37 (d) 6

57

203. A and B have together three times what B and
C have, while A, B, C together have thirty
rupees more than that of A. If B has 5 times
that of C, then A has
A vkSj  B ds i kl  / u B vkSj C ds ; ksx dk rhu xquk
gSA t cfd A, B vkSj C rhuksa ds i kl  A l s dqy
`30 v f/ d gSaA ; fn B ds i kl  C dk i kap xquk /
u gks rnuql kj A dk / u%
(a) `60 (b) `65
(c) `75 (d) `45

204. 0.1 and 8
5

of a bamboo are in mud and water
respectively and the rest of length 2.75 m is
above water. What is the length of the bamboo?

, d ckal  dk Øe' k% 0.1 Hkkx vkSj  8
5 Hkkx dhpM+

vkSj i kuh esa gSa vkSj ' ks"k 2-75 eh- yEckbZ i kuh ds

Åi j gSA ckal  dh dqy yackbZ%
(a) 10 m (b) 30 m
(c) 27.5 m (d) 20 m

205. An 85 m long rod is divided into two parts. if

one part is 3
2

of the other part, then the longer
part (in metres) is:
, d 85 eh- yEch jkWM 2 Hkkxksa esa ck¡Vh t krh gSA ; fn

, d Hkkx nwl js Hkkx dk 3
2 gks rks yEcs Hkkx dh

yEckbZ (ehVj esa)  D; k gS\

(a) 34 (b) 3
256

(c) 85 (d) 51

206. In a class 5
3

 of the students are girls and rest

are boys. If 9
2

of the girls and 4
1

 of the boys
are absent. What part of the total number of
students are present?

, d d{kk esa dqy Nk=kksa ds 5
3

 yM+fd; k¡ vkSj ' ks"k yM+ds

gSaA ; fn yM+fd; ksa ds 9
2  Hkkx vkSj 4

1
 Hkkx vuqi fLFkr

gks] rks dqy Nk=kksa dk fdruk Hkkx mi fLFkr gSa\

(a) 30
23

(b) 36
23

(c) 49
18

(d) 25
17

207. Divide 37 into two parts so that 5 times one
part and 11 times the other are together 227.
37 dks nks Hkkxksa esa bl  i zdkj ck¡fV; s fd i gys Hkkx
ds 5 xqus vkSj nwl js Hkkx ds 11 xqus dk ; ksx 227 gks%
(a) 15, 22 (b) 20, 17
(c) 25, 12 (d) 30, 7

208. A person gives 4
1

of his property to his

daughter, 2
1

 to his sons and 5
1

for charity. How
much has he given away?

, d O; fDr v i uh dqy l ai fÙk dk 4
1 Hkkx v i uh i q=kh

dks]   2
1

 Hkkx v i us i q=k dks vkSj  5
1

 Hkkx nku ns nsrk
gSA ml ds }kjk nku fn; k x; k dqy Hkkx fdruk gS\

(a) 20
1

(b) 20
19

(c) 10
1

(d) 10
9

209. A man spends 3
1

 of his income on food, 5
2

of

his income on house rent and 5
1

of his income
on clothes. If he still has `400 left with him,
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his income is

, d O; fDr v i uh vk;  dk 3
1

 Hkkx Hkkst u i j ] 5
2 Hkkx

fdjk; s i j vkSj 5
1  Hkkx di M+ksa i j  [ kpZ djrk gSA ; fn

ml dh cpr `400 gks] rks dqy vk;  fdruh gS\
(a) `4000 (b) `5000
(c) `6000 (d) `7000

210. A man spends 4
1

 the of his income on food,

3
2

rd of it on house rent and the remaining

which is   ` 630 on other commodities. Find
his house rent?

, d O; fDr v i uh vk;  dk 4
1

 Hkkx Hkkst u i j ]

3
2 Hkkx fdjk; s i j  vkSj ' ks"k  `630 vU;  [ kpks± i j
O; ;  djrk gSA ml dk fdjk; k fdruk gS\
(a) `5040 (b) `3520
(c) `4890 (d) `4458

211. A, B, C and D purchase a gift worth `60. A

pays  2
1

 of what others are paying, B pays 3
1

rd of what others are paying and C pays 4
1

th

of what others are paying. What is the amount
paid by D?
A, B, C vkSj  D dqy `60 dk fxÝV [ kjhnrs gSA  A

vU;  rhuksa dk 2
1

 Hkkx [ kpZ djrk gS] B vU;  rhuksa

dk 3
1

 vkSj C vU;  rhuksa dk 4
1

 [ kpZ djrk gSA D ds
}kjk [ kpZ fd; k x; k / u fdruk gS?
(a) 16 (b) 13
(c) 14 (d) 15

212. [(3-4(3-4)-1]-1 is equal to :

[(3-4(3-4)-1]-1 dk eku D; k gS\
(a) 7 (b) -7

(c) 7
1

(d) 7
1



213. Given that 3.718 = 2689.0
1

 then 0003718.0
1

 is
equal to

fn; k gS& 3.718 = 2689.0
1

, rc  0003718.0
1

 dk eku
(a) 2689 (b) 2.689
(c) 26890 (d) 0.2689

214. When simplified the produet

1 1 1 11 1 1 .... 1
3 4 5 n

                 
       

 becomes :

1 1 1 11 1 1 .... 1
3 4 5 n

                 
       

 dk eku

(a) n
1

(b) n
2

(c) n
n )1(2 

(d) )1(
2
nn

215. If [n] denotes the greatest integer < n and (n)
denotes the smallest integer > n where n is any
real number, then

)5.1(
5
11

5
11

5
11

5
11 























 is

; fn [n] fu: fi r  djrk gS& v f/ dre i w.kk±d  < n vkSj
(n) fu: fi r  djrk gS& y?kqÙke i w.kk±d > n t gka n , d
okLrfod l a[ ; k gS] rnuql kj

)5.1(
5
11

5
11

5
11

5
11 























 dk eku
(a) 1.5 (b) 2
(c) 2.5 (d) 3.5

216. The value of 143
1

99
1

63
1

35
1

15
1

 is

143
1

99
1

63
1

35
1

15
1

 dk eku %

(a) 39
5

(b) 39
4

(c) 39
2

(d) 39
7

217. In a test, 1 mark is awarded for each correct
answer and one mark is deducted for each
wrong answer. If a boy answer all 20 items of
the test and gets 8 marks, the number of
questions answered correct by him was

, d i jh{kk essa i zR; sd l gh mÙkj ds fy,  1 vad
feyrk gS vkSj i zR; sd xyr mÙkj i j  1 vad dV t krk
gSA ; fn , d yM+ds us i jh{kk ds l Hkh 20 i z' uksa dks
gy fd; k gks vkSj 8 vad i zkIr fd,  gksa] rnuql kj
ml ds }kjk gy fd,  x,  l gh i z' u fdrus gS\
(a) 16 (b) 14
(c) 12 (d) 8

218. In an examination, a student scores 4 marks
for every correct answer and loses 1 mark for
every wrong answer. A student attempted all
the 200 questions and scored. In all 200 marks.
The number of questions, he answered
correctly was
, d i jh{kk essa i zR; sd l gh mÙkj ds fy,  4 vad feyrs
gSa vkSj i zR; sd xyr mÙkj i j  1 vad dV t krk gSA
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; fn , d Nk=k us i jh{kk ds l Hkh 200 i z' uksa dks gy
fd; k gks vkSj 200 vad i zkIr fd,  gksa] rnuql kj
ml ds }kjk gy fd,  x,  l gh i z' u fdrus gS\
(a) 82 (b) 80
(c) 68 (d) 60

219. A number consists of two digits such that the
digit inthe ten's place is less by 2 than the digit in
the unit's place. Three times the number added

to 
6
7

 times the number obtained by reversing the
digits equals 108. The sum of digits in the num-
ber is:
, d nks vadksa dh l a[ ; k esa ngkbZ dk vad bdkbZ ds vad
l s 2 de gSA ; fn l a[ ; k ds 3 xqus dks] vadks dks i yV
nsus i j  cuh l a[ ; k ds 6@7 esa t ksM+k t k; s rks 108 i zkIr
gksrk gSA l a[ ; k ds l Hkh vadksa dk ; ksx gksxk&
(a) 8 (b) 9
(c) 6 (d) 7

220. Each member of a picnic party contributed
twice as many rupees as the total number of
members and the total collection was `3042.
The number of members present in the party
was
, d fi dfud i kVhZ dk i zR; sd l nL; ] l nL; ksa dh
dqy l a[ ; k ds nksxqus #i ; s nsrk gSA ; fn dqy l adYku
`3042 gks rks i kVhZ esa l nL; ksa dh l a[ ; k fdruh gS\
(a) 2 (b) 32
(c) 40 (d) 39

221. A number of friends decided to go on a picnic
and planned to spend `108 on eatables. Three
of them however did not turn up. As a
consequence each one of the remaining had to
contribute `3 extra. The number of them who
attended the picnic was :
dqN fe=kksa us fi dfud i j  t kus dk fu.kZ;  fy; k vkSj
`108 Hkkst u i j  [ kpZ djuk fu/ kZfjRk fd; kA muesa l s
rhu fdl h dkj.ko' k ugha t k i k; sA vr% ' ks"k fe=kksa
dks  `3 vfrfjDr nsus i M+sA fi dfud i j  t kus okys
fe=kksa dh l a[ ; k fdruh Fkh\
(a) 15 (b) 12
(c) 9 (d) 6

222. A man ate 100 grapes in 5 days. Each day, he
ate 6 more grapes than those he ate on the

earlier day. How many grapes did he eat on the
first day?
, d O; fDr i kap fnu esa dqy 100 vaxwj [ kkrk gSA
i zR; sd fnu og fi Nys fnu dh v i s{kk 6 vaxwj v f/
d [ kkrk gSA Kkr dhft ,  ml us i zFke fnu fdrus vaxwj
[ kk; s\
(a) 8 (b) 12
(c) 54 (d) 76

223. A man has some hens and cows. If the number
of heads  : number of feet = 12:35, find out the
number of hens, if the number of heads alone
is 48.
, d O; fDr ds i kl  dqN eqfxZ; ka vkSj dqN xk; sa gSaA
; fn fl jksa dh l a[ ; k % i Sjksa dh l a[ ; k ¾ 12:35 rks
eqfxZ; ksa dh l a[ ; k fdruh gS] ; fn dqy fl jksa dh l a[ ; k
48 gksA
(a) 28 (b) 26
(c) 24 (d) 22

224. In a factory one out of every 9 is female worker.
If the number of female workers is 125, the
total number of workers is
, d i QSDVªh esa i zR; sd 9 esa l s 1 efgyk deZpkjh gSA
; fn efgyk deZpkfj; ksa dh l a[ ; k 125 gks rks i QSDVªh
esa dqy deZpkjh fdrus gSa\
(a) 1250 (b) 1125
(c) 1025 (d) 1000

225. A man read 5
2

th of a book on the first day. He

read 3
1

rd more than he read on the first day. 15
pages were left for the third day. The number
of pages in the book is

, d O; fDr fdl h i qLrd dk 5
2 Hkkx i gys fnu i <+rk

gSA vxys fnu og i gys fnu dh v i s{kk 3
1 Hkkx

vfèkd i <+rk gSA ; fn rhl js fnu dqy 15 i st  cps gksa
rks i qLrd esa i st ksa dh dqy l a[ ; k D; k gS\
(a) 100 (b) 105
(c) 225 (d) 250

*************
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ANSWER SHEET

1. (a) 2. (d) 3. (d) 4. (d) 5. (d)
6. (d) 7. (b) 8. (d) 9. (a) 10. (b)
11. (c) 12. (d) 13. (a) 14. (a) 15. (d)
16. (a) 17. (c) 18. (a) 19. (c) 20. (a)
21. (d) 22. (c) 23. (a) 24. (a) 25. (a)
26. (a) 27. (a) 28. (a) 29. (a) 30. (d)
31. (d) 32. (b) 33. (d) 34. (a) 35. (b)
36. (a) 37. (b) 38. (a) 39. (d) 40. (d)
41. (a) 42. (c) 43. (c) 44. (a) 45. (b)
46. (c) 47. (d) 48. (b) 49. (c) 50. (c)
51. (a) 52. (b) 53. (c) 54. (b) 55. (b)
56. (b) 57. (d) 58. (c) 59. (a) 60. (b)
61. (d) 62. (d) 63. (c) 64. (d) 65. (c)
66. (b) 67. (a) 68. (a) 69. (c) 70. (c)
71. (d) 72. (a) 73. (b) 74. (b) 75. (c)
76. (d) 77. (a) 78. (a) 79. (b) 80. (b)
81. (b) 82. (a) 83. (b) 84. (d) 85. (a)
86. (a) 87. (b) 88. (c) 89. (b) 90. (b)
91. (b) 92. (b) 93. (b) 94. (c) 95. (d)
96. (c) 97. (b) 98. (c) 99. (d) 100. (d)
101. (a) 102. (d) 103. (b) 104. (b) 105. (b)
106. (d) 107. (b) 108. (b) 109. (c) 110. (b)
111. (b) 112. (c) 113. (d) 114. (b) 115. (d)
116. (b) 117. (b) 118. (d) 119. (a) 120. (d)
121. (d) 122. (c) 123. (a) 124. (c) 125. (b)
126. (b) 127. (c) 128. (b) 129. (d) 130. (c)
131. (c) 132. (d) 133. (a) 134. (c) 135. (c)
136. (b) 137. (b) 138. (d) 139. (b) 140. (b)
141. (c) 142. (d) 143. (d) 144. (c) 145. (c)
146. (b) 147. (b) 148. (c) 149. (a) 150. (b)
151. (b) 152. (b) 153. (b) 154. (c) 155. (c)
156. (b) 157. (b) 158. (a) 159. (d) 160. (a)
161. (d) 162. (b) 163. (d) 164. (b) 165. (d)
166. (a) 167. (b) 168. (c) 169. (c) 170. (d)
171. (b) 172. (d) 173. (c) 174. (d) 175. (c)
176. (c) 177. (c) 178. (b) 179. (b) 180. (a)
181. (b) 182. (b) 183. (b) 184. (d) 185. (a)
186. (a) 187. (b) 188. (a) 189. (b) 190. (d)
191. (d) 192. (b) 193. (d) 194. (b) 195. (b)
196. (a) 197. (c) 198. (c) 199. (a) 200. (d)
201. (b) 202. (b) 203. (b) 204. (a) 205. (d)
206. (a) 207. (d) 208. (b) 209. (c) 210. (a)
211. (b) 212. (c) 213. (a) 214. (b) 215. (b)
216. (a) 217. (b) 218. (b) 219. (c) 220. (d)
221. (c) 222. (a) 223. (b) 224. (b) 225. (c)
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